8-12. For the circuit in Fig. P8-12, calculate and print the voltage gain, the input resistance,
and the output resistance. The input voltage is 5 V dc. The model parameters of the
BJTs are BF=100, BR=1, RB=5, RC=1, RE=0, VIE=0.8, and VA=100.
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8-15. Use PSpice to perform a Monte Carlo analysis for five runs and for the dc sweep of
Problem 8-12. The transistor parameters having uniform deviations are

B = 100 * 50
V=100 + 20

(a) The greatest difference from the nominal run is to be printed.
(b) The maximum value of the output voltage is to be printed.
(¢) The minimum value of the output voltage is to be printed.



